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1. (a) Answer in one sentence : ‘ 1x4=4

b1 TS Teq

(i) What is money measurement concept?

YER AR RN YRG! 2

(i) What is the main purpose of business income?

T S 51 Sy 32

(i) What is Del Credere Commission?

wfiq vl &2

(iv) What is Trial Balance?
Tge Rem-4 [ 2
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(b) Select the correct alternative answer : 1x4=4

s e Te3ehr MR Bferea
(i) Realization A/c is a/an

20P/405

(%)

(iii)

(iv)

e Reret T Ry

(1) Revenue A/c
ez {31t

(2) Assets A/c
o Roref

(3) Nominal A/c
it ooy

Joint venture with other Coventure A/c is a
Qe Some Rorere S STERAMR Rpie 9 «Gbl
(1) Personal A/c
Ifeere o1t
(2) Real A/c
Irea v
(3) Nominal A/c
TR Rerer

Depreciation is a process of
ST X
(1) valuation
Toera GRy aifem
(2) allocation
SRS qRY s

(3) selling

R&ER aRy aiierm

Branch A/c prepared under Final A/c system is in the nature of

pore o1l 1@ ST erme 31 a1 e o3l T
(1) Assets A/c
eifey ot
(2) Liability A/c
RSN oo
(3) Revenue A/c
e o



2. Write short notes on (any jfoun : 4x4=16
5y GOl fora (R cmeent wify)

{a) Qualitative characteristics of accounting information
REriRaR g1ere RRIR
(b) Need of IFRS
IFRS 3 CAT&AISl
(c) Revenue recognition
RlERTEC
(d) Records at Head Office
T FREER B
(e) LIFO and FIFO methods

LIFO SF FIFO %z

() Rights of hire purchaser

SE! (FOR SRR

3. The partnership firm of X, Y and Z was dissolved on 1st April, 2018. Their
financial position just before dissolution was as follows :
X, YOIF Z SRl I ST 39 = 1 «f¥e, 2018 Oifee | codra R e
PR 9IS TS R 439 e

Liabilities Amount Assets Amount
TR UG AR Al
' & (5=) ' & (o)
Creditors ' 12,000 Cash 12,000
ANSAMR W '
Bank Loan 15,0600 Debtors 23,000
REFT 99 A .
.Capital : Stock 16,000
@ TS WA
X 20,000 Furniture 10,000
Y 23,000 HRRNG ' _
Z 24,000 Investment 33,000
Ricns
94,000 94,000

20P/405 3 [P.T.0.



Assets were realized as under :

Debtors—¢ 19,000; Stock—¥ 13,000; Furniture—¢ 7,000 and
Investment—¥ 35,000. Bank loan is paid in full. One computer printer
(book value—nil) was taken over by X for 1,000. One customer paid
¥2,000 which was earlier written-off as bad debt. Dissolution expenses
amounted to ¥ 3,000. Mr. Gangadhar, the Manager of the firm was paid a

gift of ¥ 2,000 for his long service in the firm. Creditors were paid ¥ 1,000
less.

You are required to prepare the Realization A/c, Partners’ Capital A/cs and
Cash A/c. The partnership deed was silent on the profit-sharing ratio.

8+4+2=14
©eTS il 4T TSR S a1 02k

C(AMI—19,000 B/; TS *C—13,000 5FL; SHIRAE—7,000 TF W
RfAcA—35,000 511 QT 99 Foofaeel ofReTy I W1 G5 IReCER RSBR
(FiRR® 30— F0) Rell 0 1,000 537 X-« 5 o | o o o iR <
1 2,000 51 <Ry 303 | SRR =@y 395 3,000 5311 TR “fRoe R
MMRF (OCed A GRIE AR 2,000 591 TR ficet 1 ewmid 1,000 51
T RNy 3 |

o ST 1, SRR ot 1ot W o 4 o 2w 91 | AT i
e sy AW e faea i |

Or / 5[
What do you mean by dissolution of a partnership firm? Explain the various

modes of dissolution of a partnership firm. 5+9=14
SR A R wTRE Fea B g R AR 99 SR Rivw
RS 31 7 |

4. Guwahati Head Office opened a Branch at Barpeta. The Head Office supplies
goods to its Branch at Barpeta at cost. The Branch sells goods for cash and
credit and remits the proceeds to the Head Office promptly. The Branch
expenses being met by the Head Office by cheque. The following are the
transactions relating to the Branch for the year ended 31st March, 2019 :

@MWWWm@WWWlwWWmeu
TR oM B TS T8 R IR A0t 0o 4 3 PROGHE (29 I | T SO N
YEAR 4R [T ARG FC3 1 31 W6, 2019 GIRCY *INE TS o ] @RI

oo i %9 ¢
e =)
Stock at Branch on 01.04.2018 80,000
01.04.2018 ©IRey =R R
Debtors at Branch 01.04.2018 1,00,000

01.04.2018 IRty *INR IS
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¢ (&)

Goods sent by the Head Office to
the Branch during the year 6,00,000

TS N1 (ARG AT

Cash sales at Branch 3,00,000
7S Fo% Rl

Credit sales at Branch 5,60,000
1S S Rt

Goods returned by Branch 30,000
] *I78 s F0T

Goods returned by customers 25,000
LT 198 R 303

Cash received from debtors 5,20,000
CREAMIPTRE] A CAET 91 4

Discount allowed to customers - 30,000
NZFE 4181 o =

Bad debts written-off 15,000
SRR W S I XA

Cheque sent to Branch for expenses :

I IIRY IR X PRI LHICPICIICS! 2if3am

¥ &)
Salaries 70,000
LT e
Rent 25,000
O[el
Petty Expenses 8,000
Y R
Stock at Branch on 31.03.2019 1,00,000

31.03.2019 SR *NR TFS 78R

Prepare Branch A/c and goods sent to Branch A/c in the books of Head Office.
Also prepare Branch Debtors A/c in a working note.

T FRFEE IR 9 Ror W Mtet (o Rl we 41 1 IR BTSN M
CrmTea fRpTee orge @R Crye |

20P/405
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Or / 9=y

(a) What is Branch Accounting? Explain the needs of Branch Accounting,

=1 fRRoret &6 2 mar R eicamsSe o v =4 |

2+3=5

(b) Briefly explain the treatment of the following items in Branch A/c : 3x3=9

R e Fatile R @mee Reow =1 =, S5 e <41 -

(i) Cash in Transit
TEAIYS YT 9 4

(i) Goods in Transit
TEPALS 4T 40T

(iij) Inter-branch Transaction
HIZSHRNE TS (AT A

5. Following is the Trial Balance of Dhanjit and Devajlt as on 31st March, 2019.

You are required to prepare—

TS 31 W, 2019 URW RS W RS Tge Rew-om f z'o1 1 ot o o

4TS F9—

(a) Trading A/c;
- fBore;

(b) Profit & Loss A/c for the year eﬁded Sls‘t March, 2019;

31 W15, 2019 I AS-CHAROI B51e;

- {¢) Balance Sheet as on that date :

Trial Balance / &g fi57-@

& TR T8 :
Dr. Balances ¢ (=)
R RRTR
Stock on 01.04.2018 80,000
01.04.2018 @1R<T HRSM H{
Purchases 2,00,000
i)
Bills Receivable 2,000
oo Rey
Cash in Hand : 13,000
TSS9 &)

20P/405

Cr. Balances

s RfemE
Capital :
T

Dhanjit

it

Devajit
Sundry Creditors
RRY seam

4+5+5=14

¢ =)

1,60,000
1,00,000

75,000



Dr. Balances

R RIS
Bad Debts
SR
Machinery
TS
Advertisement
Reareim
Sundry Debtors
Ry came
Goodwill
QL]
Land and Building
1% = |1
Fuel
o=
Wages and Salaries
TGR =F 99
Rent and Taxes
STl HF ¥
Discount
AT
Commission
L]
Furniture
HHIRHG

¢ (5=)
1,000
66,000
8,000
50,000
70,000
2,25,000
15,000
40,000
20,000
8,600
10,000

15,000

8,23,600

Cr. Balances
TG RISTR

Bank Loan

Q9 99

Sales

R&

Bills Payable

@ Re

Interest

T

The following adjustments are to be made :
TS g1 FNCAEAPTR IR AP
(i) Closing Stock on 31st March, 2019— 60,000
31 16, 2019 ©IR=F it ST T 19 FT—60,000 B
(i) Depreciate Machinery by 10% and Furniture by 5%
THAME 10% FTS SF WARAA 5% TI© ST 4R R A

(i) Create Reserve of 5% on Sundry Debtors for Bad Debts

ICHZEAF Y] AT 5% TI© FORT 1w IRT ey
(iv) Write-off -}'-‘th of advertising

ﬁmwm%wwﬁmwsﬁam

20P/405

¥ (o=
43,600
4,20,000
20,000

5,000

8,23,600
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Or / 931

{a) What do you mean by depreciation? Differentiate between straight-line
method and written-down walue method of providing depreciation. 2+5=7
s Iorce R o2 e - R e sreEiRe- T ety T e
g 11

(bp) What do you mean by inventory valuation? Write the significance of
inventory valuation. 3+4=7

TR ! T I 1 3@ 2 TR P e o o

6. On 1st July, 2018, Prakash Ltd. purchased a machine from Bikash Ltd. on
hire-purchase system. The cash price of the machine was ¥ 1,20,000. The
payment was to be made ¥ 9,200 on the date of contract and four half yearly
instalment of ¥ 32,000 each commencing from 31st December. Rate of interest
charged 12% per annum. Prakash Ltd. has decided to write-off 20%
depreciation per annum on diminishing balance of cash price. On 30th June,
2019, Prakash Ltd. could not pay the 2nd instalment and as a consequence'
Bikash Ltd. repossed.

From the above particulars, calculate the cash price of the machine and
prepare the following Ledger Accounts in the books of Bikash Ltd. : 14
(a) Machinery A/c

(b) Prakash Ltd.’s A/c

erery fofceee 1 e, 2018 wiRey @b cifSs Rert Fifcber oR1 so-a e @
R | SR 5 o7 WfREt 1,20,000 B9 | 56 PR pfeeiae IR @RI wiest wiea
9,200 B3 fian = e A9 < HIRE w61 = 3w ¥ 32,000 FFtz “ifRemy R
= 1 2y DT foevgaa 31 OIRRT *R1 oIS 7’7 | IR 21w oI T 12% &3 “Reny
IR APR 1 21 FfRcEre GiftR e e TR 20% TT© FERPIH “&fvs SwT 47 I |
30 &7, 2019 ©IR¥® e ffichee R R AReny IRt woma @re cfbadh
BAS FI |

&Y SYPIR SURS GfSTBR 9% o7 AR 391 o wore fran Repr fifficben fwmm
oot orEe +4
(a) TEefeR fRoret
(b) o Ffebes e
Or / &%at

(a) Define consignment. Discuss fully the nature of relationship between the
consignor and consignee. 2+5=7

BRIMR ST 781 | BIeTH (23T IF DA 219199 WIS T J%e11% SIeamsy 341 |

(b)) What do you mean by Joint Venture? Explain the features of Joint
Venture. 2+5=7

A Tomet Reret gfeica 16 o 2 (@ Tomrs Rerer Bz amm 4 1

* %
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